Answer Key: Two Digit by Two Digit Multiplication Worksheet One:

	3402



	
	2432


	3420


	3564


	3744



	3650


	1581


	2944


	6370


	6580



	1824


	8370


	9016


	4012


	4071



	4662


	6864


	2584


	4420


	4047



	7055


	2088


	5504


	2496


	3960



	6142


	2754


	3330


	5445


	4850



	1170


	992


	2860


	1296


	3471




Answer Key: Two Digit by Two Digit Multiplication Worksheet Two:
	2412



	
	2960


	320


	2652


	7154



	2366


	6314


	1600


	1674


	3450



	4000


	2418


	315


	7735


	4050



	660


	5670


	3096


	3400


	2139



	5822


	6561


	3652


	1290


	4389



	5037


	2211


	561


	2210


	6035



	3393


	1824


	7056


	2400


	6480




Answer Key: Three Digit by Two Digit Multiplication Worksheet One:

	43804



	
	25596


	76824


	51415


	24882



	52514


	30366


	4120


	2574


	23800



	55844


	11340


	33660


	4977


	51852



	24180


	37252


	7392


	12834


	8216



	23323


	47250


	2760


	5512


	8712



	59945


	73425


	4984


	9882


	22110



	1704


	63872


	45288


	61350


	36616




Answer Key: Three Digit by Two Digit Multiplication Worksheet Two:

	629



	
	57063


	54720


	27591


	35700



	13020


	20304


	3939


	18753


	59598



	37884


	10981


	27864


	46350


	5148



	68640


	29585


	27930


	26732


	6804



	77771


	17518


	63490


	4699


	10120



	40774


	58464


	24430


	24426


	44226



	42166


	50492


	13440


	73186


	13224




Answer Key: Sample Word Problems:

1. 1,296 beads

2. 324 inches

3. $9,120.00

4. 6,500 cards altogether (The cards would cost $68.75.)
5. 4,500 miles in a month (15 miles per hour)
